2. TR kR A ARTII0 S B -

POFTRRE B R A UL

B 24 E/ /- > - =2
¥ o+ R B w2 i £ > R %]
2 B101# (2012#)
£ i 3 e - e
g v = j,—‘.g"ﬁ" v = 3 v = _E.J.-"g‘ v = g v = _':,,__L;QT v =
= RO AT FIRR = R 7 FHAYT FIRA ;= RO A AT B
[had (ICD-104 %§) A e 52 % [had (ICD-104 #5) A fic o= X % [had (ICD-104 #7) A o= F %
T R 44 369.36 100.0 TF = R F] 22 356.91 100.0 3= R E 22 382.71 100.0
R )| 39 327.40 88.6 RN 19 308.24 86.4 A S 20 347.95 90.9
1 Ry 2 engr % 20 167.89 455 1 [merw 29 g L& R 10 162.23 455 1 [Recw A8 g TR 10 173.96 455
2 | A= w52 4d B 9 75.55 20.5 2 |A X HaEA g2 4 d MEF 4 64.89 18.2 PR EENCATEIE-EIEI- AR T 5 86.98 22.7
3Ty 3 3 25.18 6.8 3 |3 o5 w1 3 (SIDS) 2 32.45 9.1 KN EE- 32 2 34.79 9.1
4 |2 sapsr R i ¥ (SIDS) 2 16.79 45 4 1Fwip 1 16.22 4.5 4 | ka5t A 1 1 17.40 45
5 | & 1 8.39 2.3 4 | ¢ 1 16.22 4.5 4 | sn (% L BRILA ek ) 1 17.40 45
5 | AR 1 8.39 2.3 4 | g P 1 16.22 4.5 4 |\ &R 1 17.40 45
5 5 i (B s BALA % ) 1 8.39 2.3
5Pt 1 8.39 2.3
5 & kiR 1 1 8.39 2.3
H @bt & 5] 5 41.97 11.4 How bt & 5T 3 48.67 13.6 Hig 2t L 5 H 2 34.79 9.1
o L R0&E Y & ode M11, 9134 F 426, 1644 A5, 7494 o




% 0 B S & 1 & » 2 R 7

2 R®101# (2012%)
& 3 H JES L -
Mg Fu = &Ly Fv = WE Fu= g1y Fu= WE v B 1 B
= RO AT FIRR = R 7 FHAYT FIRA ;= RO A AT B
s (ACD-10~ #7) ‘¥ el s % [ (ICD-104 #7) A ¥ i % = (ICD-104 #) A i 7= & %
= R 34 18.00 100.0 T R 20 20.20 100.0 g = R 14 15.58 100.0
R | 25 13.24 73.5 Sl A 14 14.14 70.0 LAa 8T 11 12.24 78.6
1lzxsz 13 6.88 38.2 13w 9 9.09 45.0 1 |z b 4 4.45 28.6
2 | 7 3.71 20.6 2 | B 3 3.03 15.0 1 |$&4 3 4 4.45 28.6
T - THEGHEZ THY 1 0.53 29 Tt TopEEEE TR 1 1.01 5.0 3 <R (B BALA RS ) 1 1.11 7.1
3 I 1 0.53 2.9 3 |Mde g A 1 1.01 5.0 3 ez (mm) 1 1.11 7.1
3 (#R) 1 0.53 2.9 3 1 111 7.1
3 i g B 1 0.53 2.9
3 | (B & BALA 5 D) 1 0.53 2.9
Hi 2t 4 9 4.77 26.5 His 2t 4w 6 6.06 30.0 R 3 3.34 21.4

ot L B01-14/k = ¢ 4 g 34188,8504 §1299,0164 -~ 489,834+ o
2. TR KR FEAARTIRE FLA A PN B R A T



B .24 2 B% =+ > L =2
¥ O~ B oy £ i & » R F]
2 #1014 (2012%)
£ i g 1 - 1
g = j,,_Lg‘ = 3 = -E—J-‘”'gf' = g v = _’:,,__L;Q’ o
= RO AT FIRR = R 7 FHAYT FIRA ;= RO A AT B

[ (ICD-104 %) o = & % [l (ICD-10~ #) 3y 7= % % i (ICD-104 #8) Ly d = & %

= R 76 40.46 100.0 T3 = R 55 55.82 100.0 4 = R F) 21 23.51 100.0

R | 69 36.73 90.8 SR ) 48 48.72 87.3 SRR | 21 23.51 100.0
1 %43 44 23.42 57.9 13w 33 33.49 60.0 1|$xg2 11 12.31 52.4
2 | 6 3.19 7.9 2 |z 5 5.07 9.1 2 |#es E A o 3 3.36 14.3
2 F58p g3 () 6 3.19 7.9 2 |FapagT(pH) 5 5.07 9.1 3] 5 (8 @ﬁmﬁ;rf ) 2 2.24 9.5
4 |omnm(n i mpn pg ) 5 2.6 66 | 4 |ewap(aL iyt 3 3.04 I KN 1 112 48
S | A m 3 1.60 3.9 5w 1 1.01 1.8 4 |4eF (1 A) 1 112 4.8
6 |res i 1 0.53 1.3 5 |pes i 1 1.01 1.8 U RN EACEIE RV AR B 1 1.12 4.8
6 J4c (M) 1 0.53 1.3 4 lzaprgT(pam) 1 1.12 4.8
6 |f2F AT WA 1 0.53 13 4 ey 1 112 48
6 | & 1 0.53 1.3
Gl SRR EAT VL SVER I 8 1 0.53 1.3

HippzbLl 4 77 7 3.73 9.2 Hip bl L 55 7 7.10 12.7 Hip bl L ) 0 0.00 0.0

o3zt 1§  Bk15-24# ¢ A v e 187,804+ §498,5294 % 489,3254 -
2. F AL KR L A ARTIIN S FLAAL C PN E B R R A U



B2 2 > 2
¥ v B & 3 & 7 R 5
2 #1014 (2012%)
: = 7 B B B
T EE P e g = N 7= g 7 it 2 >
= RO AT FIRR = R 7 FHAYT FIRA ;= RO A AT B

= (1CD-104 %) < o % e (1CD-104 %) L e o % e (1CD-104 &) 4 I %

e R 586 142.99 100.0 T 456 215.06 100.0 ——T 130 65.72 100.0

Liigr 478 116.63 81.6 tiigrm 369 174.03 80.9 Liigrm 120 60.67 923
1| pag 157 38.31 26.8 1| pmn 110 51.88 24.1 1 |gpean 47 23.76 36.2
2 |exy2 99 24.16 16.9 2 [#ay 2 86 40.56 18.9 2|5ie g0 33 16.68 25.4
3leesngznn 81 19.76 138 3 [mae e 2 soar 48 22.64 105 3leanz 13 6.57 100
4 fiesep 2 ven o 49 11.96 8.4 3leiingrcnn 48 22.64 10.5 4 |oon p(a s Bz g o) 6 3.03 46
5 |omn p(a s mizR g o) 43 10.49 73 ) EECSAE Y. TE Ty 37 17.45 8.1 5 |as # 2 5 2.53 38
6 [us 32 21 5.12 36 6 |sws 2w 16 7.55 35 6 leeimz) 222 2imw 3 152 23
7 |mwrom 12 293 20 | 7 |wAn 9 4.24 X T M 3 152 23
8 |« 7 171 12 8 [« 6 2.83 13 6 |mam 3 152 23
9 bsscmay - 2 a2 2w 3 1.52 05 8 |res n 6 2.83 13 9 fz)ij R (R R 1 0.51 0.8
10 [res % 6 1.46 1.0 10 ’T;j LR (R R 3 141 0.7 9 |pu 1 0.51 0.8

s 108 26.35 18.4 e anm 87 41.03 19.1 PP 10 5.06 7.7
11 :;*’é“" R A e 5 1.22 0.9 11| sragz g 2 0.94 0.4 9 | pramn 2 1 0.51 0.8
12 }E;;:f REE RAC e R 4 0.98 07 11 ;’Ef LR AR R e p 2 0.94 0.4 N HEEER Y 1 0.51 0.8
13 | s m 3 0.73 0.5 I L T 2 0.94 0.4 9 fip= e mig g 1 0.51 0.8
13| sragx 2ia 3 0.73 05 11 f s mip 2 0.94 0.4 9 [misrpz somr v 1 0.51 08
1I5]% %~ Tzt Tp % 2 0.49 0.3 1542 (8 %) 1 0.47 0.2 9 | 1 0.51 0.8

ol 50 BR20-444k E P A vl 32409,828 4§ 14212,032+4 A 4£197,796 4
2. F AL KR L A ARTIIN S FLAAL C PN E B R R A U



v B¢ B I & > =2 R 5

Sl
NV

2 #1014 (2012%)
: = 7 B B B
g Eal &Ly Eal Mg v = &Ly v = nig; 7= &Ly v =
< R oA xv T * = R P Faw R LA T
[ (ICD-104 %) A = & % [ (ICD-104 %) A e o= & % [ (ICD-104 %) A = & %
e R 1,933 564.61 100.0 T 1,418 799.95 100.0 ——T 515 311.93 100.0
B T B 700 4965 89 | |eeserm | 128 7sas  sea | |reserm | s oesss sz |
1| pag 866 252.95 448 1| pmn 602 339.61 425 1 |e g 264 159.90 513
2 | (h o i g ) 214 6251 111 2 |omn p(a s mizn gy 167 94.21 11.8 2 [ommmon e mpnpy ) 47 28.47 9.1
3leanz 139 40.60 7.2 3 |msepz em v 117 66.00 8.3 3leanz 30 18.17 58
4 fmipsep 2 vem v 129 37.68 6.7 P Eae 109 61.49 77 4 | 29 17.57 5.6
5 [ous 3 5 98 28.62 5.1 5 | 5 5 7 76 42.87 5.4 5 |6 5 5 22 13.33 43
6 | 90 26.29 47 6 |wan 61 34.41 43 O N e L. 16 9.6 31
AT 63 18.40 33 7 g2 29208 49 27.64 35 AT IS 14 8.48 2.7
Y N e L 37 10.81 1.9 o 2 1354 17 8 |wissmps sem v 12 7.27 23
9 |« 28 8.18 14 o |vu - Trapus vae 21 11.85 15 IS 5 3.03 10
10 [pes i 18 5.26 0.9 10 [pes 14 7.90 1.0 9 ;’“M R s 5 3.03 1.0
1 I O T P N O
1003 & mpa g 18 5.26 0.9 103 5 222 14 7.90 1.0 11| 5 B g2 s 4 2.42 0.8
12 g s m 16 4.67 0.8 10 i g = s g m 14 7.90 1.0 11 [res 4 2.42 08
13 ;““”4 AR LR 13 3.80 0.7 13 |0 sramz wg 9 5.08 0.6 11 [ 4 2.42 0.8
14| gorem 2w 1 321 0.6 14 ;*5"’“" ARE G LR 8 451 0.6 14 z% UE S e 3 1.82 0.6
L] 10 2.92 05 |us|fHREEREREY 5 2.82 04 |14fpapern 3 182 06

WLt g mdb-64f & ¢ L v B 342,362+ 91772624 12165, 101~ -
2 TR R T A AR PR p RGN BB R A T



v BRoxXx & i & » 2 R

Sl
NV

2 R®101# (2012%)
: = 7 B B B
g Eal &Ly Eal Mg v = &Ly v = nig; 7= &Ly v =
< R oA xv T < R o9 P T R 4 paT T
[ (ICD-104 %) A = & % [ (ICD-104 %) A e o= & % [ (ICD-104 %) A = & %
I 6,727 4,187.40 100.0 3 e R 3554  4,808.78 100.0 st me R 3173 3,657.97 100.0
B D 5206 328552 7180 | |ccserm | 280 asers  s0s | |reserm | 2408 27605 759 |
1 | 1,601 996.59 238 1 |ermg 1,003 1,357.12 28.2 1 |erm 598 689.40 18.8
2 lswmnmGai misnpg ) 957 595.71 14.2 2 | nom g (s RELR ) 421 569.64 11.8 ) FESTAEES. Ry 536 617.92 169
3 [ 42 493 306.88 73 3 [wre g n gy 323 437.04 9.1 3 |wrm 203 337.78 9.2
4| 490 305.01 73 4w 280 378.86 7.9 4 [swsi 3 5 244 281.29 7.7
5 | 470 292,56 7.0 5 [wai 42 249 336.91 7.0 5 | 210 242.10 6.6
6 [t e igmpy 423 263.31 6.3 6 | s 177 239.49 5.0 6 [ mpnp 144 166.01 45
7 |5 cmpnp 237 147.53 35 AEEST 128 173.19 3.6 1 LR Sy 110 126.81 35
R e T 217 135.08 3.2 8 |7 Tprnwuz vpe 107 144.78 3.0 8 [wop v xig gy 100 115.28 3.2
9 |leans 193 120.14 2.9 9 [#cmpnyp 93 125.83 2.6 9 |lpx/rw 87 100.30 2.7
10 [pes i 165 102.71 25 10 [pes 79 106.89 2.2 10 [res 2 86 99.14 2.7
B IR B st o218 220 | feescerm | ess  emes 195 | |rescenm | s ssies 241 |
e x/xw 158 98.35 23 1|#x/xw 7 96.07 2.0 1|#xs3 65 74.93 2.0
12 [t s 2 vt 125 77.81 1.9 12 [ g5 2 sear 62 83.89 17 12 [t s 2 97t 63 72.63 2.0
k] ES N E GRS 62 38.59 0.9 K] SN EXER'S 40 54.12 11 13 ;W““ R 35 40.35 11
14;ﬁ“”*“‘$ﬁﬁﬁiﬁ 60 37.35 09 |1a|ssm 27 36.53 08 |u4feppzamrimag 22 25.36 07
15 [i 47 29.26 0.7 1805 4~ e gpnp 27 36.53 08 1lges 28308 22 25.36 0.7

oG L 4) 0 BAGhR L E 9 A v dic :-160,0640 ¢ 7 273,907 £ & 1286, 142 ¢ -
2 F ALK L ARFIN BT R AR R R A T



